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Multiplication Table , .

Robert the Multiplication Robot has lost a §5 ) X \
few of his screws! Help him complete the &

multiplication table by filling in the missing number
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X 01 2 4 5 6 7 8 9

W@ o0/ o0o/of0o|O|O|O|O|O|O|O]|O]|O
0 (1|2 (3|4 |5|6|7[8|910/11]12
28 0 | 2 | 4|6 |8|10|12(14|16| 18|20 22|24
<l 0 | 3|6 |9 |12|15/18[21|24(27|30/|33(36
W 0 | 4 | 8 |12(16|20|24 | 28|32 (36|40 |44 48
S O | 5 |10[15[20|25|30|35|40 45|50 55|60
Gl 0 | 6 |12 (18 |24|30/36|42|48| 54|60 |66 |72
Y@l O | 7 (14|21 |28|35|42|49|56|63|70|77 |84
el O | 8 |16 (2432|4048 |56 |64|72|80 88|96
°M 0 | 9 (18|27 |36|45|54 63|72 (81|90 |99 (108
0] 0 [ 10|20 30/ 40|50|60| 70 80 |90(100|110|120
Rl O |11 (22 (33|44 |55|66|77|88|99|110|121|132
P24 O | 12|24 | 36|48 |60 |72 |84 |96 108|120(132(144 (S
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